
Name: __________________________________________ Period: _________ 

 

SM2H 8.2 Inverse Trig. Functions and Solving Right Triangles 
 

Use a calculator to find each angle measure to the nearest degree. 

1. sin A = 0.9563   2. tan B = 7.1154   3. cos 𝐴 = 0.0349 

 

4.  𝑠𝑖𝑛−1 (
√3

2
) =   5.       6.      

 

 

7.  𝑐𝑜𝑠−1(0.9921) =   8. 𝑡𝑎𝑛−1(4.8973) =   9.  𝑠𝑖𝑛−1(0.3267)= 

 

 

Find the measure of the indicated angle to the nearest tenth of a degree. Show all work! 

10.         11.        12.

    

 

 

 

 

 

 

 

 

13.            14.                          15.  

 

 

 

 

 

 

 



Identify which trigonometric ratio needed to solve for missing side. Write the correct equation, then solve 

16.      17.     18. 

 

 

 

 

 

 

19. Find the exact values of 𝒔𝒊𝒏𝜽, 𝒄𝒐𝒔𝜽, 𝒕𝒂𝒏𝜽, 𝒄𝒔𝒄𝜽, 𝒔𝒆𝒄𝜽, 𝒄𝒐𝒕𝜽. Put a STAR next to angle 𝜽.  Label your 

sides as opposite, adjacent, and hypotenuse. 

 

               

         sin 𝜃 =                     csc 𝜃 = 

         cos 𝜃 =                     sec 𝜃 = 

         tan 𝜃 =                     cot 𝜃 = 

 

 

Solve the triangle. Round answers to the nearest hundredth.  If there is no picture provided, draw a 

picture FIRST! 

20.    21.  

 

 

 

 

 

 

 

 

 

  𝑚∠𝐴 =   𝑎 = 

    

  𝑚∠𝐵 =   𝑏 = 

 

  𝑚∠𝐶 =   𝑐 = 
 

 

 

𝑚∠𝐴 =   𝑎 = 

    

𝑚∠𝐵 =   𝑏 = 

𝑚∠𝐶 =   𝑐 = 

 

 



22.       23.       

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  𝑚∠𝐴 =   𝑎 = 

    

  𝑚∠𝐵 =   𝑏 = 

 

  𝑚∠𝐶 =   𝑐 = 

 

Write the correct trigonometric ratio to solve for the value of x.  (x can be the value of the angle OR the 

length of a side).  Then find the value of x. 

  

24.     25.     26.  

 

 

 

 

 

 

 

 

 

 

 

𝑚∠𝐴 =   𝑎 = 

    

𝑚∠𝐵 =   𝑏 = 

𝑚∠𝐶 =   𝑐 = 

 

 

 



27.     28.     29.  

 

 

 

 

 

 

 

 

30.  A skier drops 800 vertical feet while skiing 1300 feet. What is the angle of the ski slope with the 
horizontal? 
 

 

 

 

 

31.  A wheelchair ramp rises 4.3 ft. over a distance of 30 ft.  
a. How long is the ramp?  
b. What angle does the ramp make with the ground? 

 

 

 

 

 

 

32.  The top of an 18-ft waterslide is 14 ft. above the ground.  
c. What angle does the slide make with the vertical ladder?  
d. How far is the bottom of the slide from the bottom of the ladder? 

 

 

 

 

 

 

 

x 

x 



Solve the triangle. Round answers to the nearest hundredth.  If there is no picture provided, draw a 

picture FIRST! 

33.  a = 10, ∠B = 67°     34.  a = 13, b = 14 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  𝑚∠𝐴 =   𝑎 = 

    

  𝑚∠𝐵 =   𝑏 = 

 

  𝑚∠𝐶 =   𝑐 = 

 

 

 

𝑚∠𝐴 =   𝑎 = 

    

𝑚∠𝐵 =   𝑏 = 

𝑚∠𝐶 =   𝑐 = 

 

 

 


